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QUESTION 1

A MIDlet has entered the paused state. Which is a valid action to attempt to make it active?
A. The MIDlet cannot revert back to the active state.

B. The MIDlet calls resumeRequest() through a timer.

C. The MIDlet calls its own startApp() method.

D. The MIDlet has to wait quietly to be rescheduled.

Correct Answer: B

QUESTION 2

A MIDlet suite has the application descriptor fragment: MIDlet-1: E-mail, email.png, com.example.EmailMIDlet The
MIDlet suite has the necessary permissions to use the PushRegistry. What line does the application descriptor need to
register the MIDlet suite for socket push connections on port 797

A. MIDlet-Push-1: socket://:79, E-mail, *

B. MIDlet-Push-1: socket://:79, MIDlet-1, *

C. MIDlet-Push-1: socket://:79, EmailMIDlet, *

D. MIDlet-Push-1: socket://:79, com.example.EmailMIDlet, *

Correct Answer: D

QUESTION 3

Which three are true? (Choose three.)

A. A MIDlet suite consists of only one JAR file.

B. Different MIDlet suites can share data with each other.

C. A MIDlet suite can have more than one class that extends the MIDlet class.

D. A MIDlet suite is an array of MIDlet objects.

E. The names of MIDlet classes that belong to different MIDlet suites must be different.

Correct Answer: ABC

QUESTION 4

Which declaration is illegal?
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A. openRecordStore("Customer_Name_and_Address", true);

B. openRecordStore("Salesperson_Projections_by Month", "acme", "sales");

C. openRecordStore("High_Scores_Stored_by_ City_and_Name", false);

D. openRecordStore("Customer_Projections”, true, RecordStore. AUTHMODE_ANY, true);

Correct Answer: C

QUESTION 5

Which two are true about sockets and datagrams? (Choose two.)

A. Closing a SocketConnection automatically closes any associated input or output streams.

B. Datagrams are used to send packets of data over a SocketConnection.

C. A datagram is an independent, self-contained message sent over the network.
D. Both datagrams and sockets use streams as the basis for their communication.
E. Datagrams are guaranteed to reach their intended destination.

F. Data sent over a TCP/IP socket is received in the same order that it was sent.

Correct Answer:. CF

QUESTION 6

Given:

10. /1...

20.

try {

21.

Hashtable table = new Hashtable();
22.

for (;;) table.put(new Object(), new Object());
23.

} catch (OutOfMemoryException e) {
24,

Display.getDisplay().setCurrent(new Alert("Out of Memory!"));
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25,

}

26.

/l... Which is true?

A. Out of Memory! is printed to the system console.

B. An exception is thrown at runtime but there is no guarantee an alert will be shown to the user.
C. Compilation fails.

D. The program hangs at line 22.

Correct Answer: B

QUESTION 7

Given:

14.

Canvas canvas;

15.

...

24,

canvas.repaint(10,10,20,20);

25,

canvas.serviceRepaints();

What occurs when serviceRepaints() is called?

A. The application blocks until the repaint() method returns.
B. The application immediately calls the paint() method.
C. The application immediately calls the repaint() method.
D. The application blocks until the paint() method returns.

Correct Answer: D
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QUESTION 8

Given:

7.

ServerSocketConnection ssc = (ServerSocketConnection)Connector.open("socket://:5999");
8.

SocketConnection sc = (SocketConnection) ssc.acceptAndOpen(); Which entry in the JAD file is used to request
multiple permissions?

A. MIDlet-Permission: javax.microedition.io.Connector.socket, javax.microedition.io.Connector.serversocket
B. MIDlet-Permission: javax.microedition.io.Connector.socket; javax.microedition.io.Connector.serversocket

C. MIDlet-Permission: javax.microedition.io.Connector.socket MIDlet-Permission:
javax.microedition.io.Connector.serversocket

D. MIDlet-Permission: javax.microedition.io.socket MIDlet-Permission: javax.microedition.io.socketserver
E. MIDlet-Permission: javax.microedition.io.socket; javax.microedition.serversocket

Correct Answer: A

QUESTION 9

What are two benefits of the PushRegistry? (Choose two.)

A. It provides a way to restrict HTTP connections to well-known network addresses.

B. It provides a way for the AMS to automatically invoke a MIDlet at a specified time if it is not already running.

C. It provides a way for two MIDlet suites running on the same device to discover and communicate with each other in a
secure manner.

D. It provides a way for an incoming connection to invoke a MIDlet that can handle the content sent by the connection.

Correct Answer: BD

QUESTION 10

A MIDlet has registered a push connection in the PushRegistry and a connection notification is pushed to the device.
Which two are true? (Choose two.)

A. If the MIDlet is NOT running, the Application Management Software starts the MIDlet.

B. If the application is running, it is responsible for all I/O operations associated with the inbound connection.
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C. The Application Management Software is always responsible for any inbound notification requests.

D. Once a connection is registered in the PushRegistry, the Application Management Software is always responsible for
any connections.

E. If the MIDlet is in the paused state, the Application Management Software is responsible for any inbound notification
requests.

Correct Answer: AB

QUESTION 11

What action can the device take when some Item objects on a Form do NOT fit when displayed?
A. delete the extra Item objects

B. display a runtime error

C. create an additional screen

D. create a vertical scroll bar

Correct Answer: D

QUESTION 12
Click the Task button.

Place the API label (high-level or low-level) on the code snippet to indicate whether or not the code is from the high-level
or low-level API. Assume that all variable names reflect the object type used in the code.

Select and Place:
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Code Snippet

Farm = new Forml Faa™");

Place te AP label (high-level or low-level) on thz code snippet to incicate

whether or not the code is from the high-level or low-level AP Assure that
all wariahle names reflect tha nhject tyae nsed inthe code

Carras ¢ = new MuCanvas(];

aFarm. addCormmand|zCommand];

aCraphicz0bject setColarf2, 2 2]

protected void pairt{Graphics g) [}

Gamelanvaz oo = new MylGamelanvaz(];

APl Leveal

Highrlevel

Correct Answer:

Low-level

Code Snippet

Place te AP label (high-level or low-level) on thz code snippet to incicate

whether or not the code is from the high-level or low-level AP Assurme that
all wariahle names reflect tha nhject tyae nsed inthe code

High-lewel Lowsr-levet
High-leyel Low-ewal
Loiw-level Lone-lervel
APl Level
High-level Low-level
QUESTION 13
Click the Task button.
Place each code snippet where it belongs.

Select and Place:
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Place zach code snippet where it belongs.

10. publie class Example’|Dlet 2xtends MIDIet | Code Snippets

{1 E [ £¢ Tempoiatily elease resouroes |
g? lel:l i PIaCEF'La;:.here. [ 104 [ A Aeguire resauices. |
22} [ //Doasitle aspossible |
23, pabic void| Flace hee. | O ——

24 | Flace here, | [ hiosiesd |
25, '} | | l pauseArp |
26, pabic void Placc heowe, Y| ——

27, # Pause threads [ S e |
28, Flace here. | destropépp |
%g' } Roce e 0 [ ExampleMIlet l
31. leh ic void| Place hee. | | (hoolean arg) { | startdpp ]
J2. Flace here. ==

cich K Hologace resourcas | (S0P Husacy |
| Place here. | 0;

3B} Done

6. }

Correct Answer:

Place 2azh code snippet whare it belongs.

10. public class ExampleMIDlet 2xtends MIDIet | Code Snippets

1 P |
20, pibic| ErampedIJlet 01 |
21, 4 Do az litle a3 possible |

£2 '} |

23, pabic void[ statdipp 01 |

24, [ A Aoquirs ressurces i

25, } |
26, pabic void| pauzefipp 04 |

2F; M Pause threads
28, [/ Temporaily relesse resouices |

29, “niotifyPaused |0 |
a0, }
31, pabic void destiowdipp | (hoolean arg) { ]
32, // Stap threads | |
a3 i Relasza resourcas
34, [ rotif estoned i O;
o Done
5.}
QUESTION 14
Given:
10.//...
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20.

try {

21.

Hashtable table = new Hashtable();

22.

for (;;) table.put(new Object(), new Object());

23.

} catch (OutOfMemoryException e) {

24,

Display.getDisplay().setCurrent(new Alert("Out of Memory!™));
25.

}

26.

/l... Which is true?

A. An exception is thrown at runtime but there is no guarantee an alert will be shown to the user.
B. Compilation fails.

C. The program hangs at line 22.

D. Out of Memory! is printed to the system console.

Correct Answer: A

QUESTION 15

Which two methods are available only within classes of the MIDP high-level Ul API1? (Choose two.)
A. getKeyName()

B. getTitle()

C. isDoubleBuffered()

D. notifyStateChanged()

Correct Answer: BD
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